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Transformations Midterm Review

1. A) Name the vector below. _ B) Givén AABC with vertices
A(-5,-4), B(-1, 4y and C(3, - 1),
<C2 > s
\ franslate the given friangle along
the vector in part A to find the image

et AA,B’C’.
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3. Find the angle of rotational symmetry that the following figures have.

A) B). &
S N

™,

L-ys 2. qp




4. A)Graph #HIJ with vertices H(-8, -5), (-4, -7),
and J(O, -2).

B) Find the coordinates of the imc}zge of Find
the coordinates of its image aH""J” under
the following compositfion of ’rrans%formo’rions,
T <-2,6> O ry-cn:-(is .
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5. Find the composition of transformations
(rigid motions) that maps cABC fo 2GHL
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8. Find the image of *ABC with vertices
AlB, -2), B(1, 3), and C(7, 7) after a rotation
of 270°.
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7. Apoint T(4,-2}is mapped to T(18, -8} under a dilation. Find the scale factor.
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8. Find the line of reflection given a preimage
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9. Find the image of :ABC with vertices A(3, 3), B(6, -8), and C(9, 0) after a reflection in the
finey=-x
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10. Explain why a dilation is not a rigid motion.

A dilation cdhanges SIZE

11. Reflect AARC with vertices A8, -6), B(2, -3}and C(5, 8} inthe linex =3,
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12. Find the image of preimage QRS with
vertices Q(-2, 4}, R(3, 4} and S{-1, 1) after d
dilation with scale factor of 2 with center ¢
dilation at the origin.
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13. A} Find the scale factor of the dilation.

B} Determine if it is a reduction or an
enlargement. Explain why.
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14. Explain the difference between similarity
f tions ety
fransformations. i
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15. A) What is the image of point (4, -6) under

transformations, Ryy, O r, . -
B) Explain which single fransformation is
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the following composition of

equivalent to the composition described.
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